Story Problem Practice

1.  A basketball team scored a total of 70 points in a game.  Their points were scored from a combination of 2 pointers and 3 pointers.  (No free throws were made).  If there were a total of 32 baskets made, how many 2-points and 3 pointers were scored?

2.  A table has a perimeter of 18 ft.  The length of the table is 3 less than twice the width.  Find the length and width of the table.  

3.  One amusement park charges a $7 entry fee and $2 per ride.  Another amusement park charges a $5 entry fee and $3 per ride.  How many rides would a visitor have to ride at each park in order to pay the same amount at both parks?

4.  For a fundraiser an organization is selling cakes and pies.  They have sold a total of 211 items and brought in $1566.  If cakes cost $6 and pies cost $8, how many of each did they sell?

